B
#7') L)z OF-4) = rapre calo.
mint (1,0)  max(0,le
(2,0)

W '&75) £(x)= k3+‘h(2”13 7 Graphe coleo,
max (-2.61,12.45)

-~ |

‘ "0 2) -
myn ( ,3) ,

ﬂ: 75) ,_;0()-;_ \“VV 5%

‘j \ -

4 ey !

x= q::) £ ()= I
£le)z el +3

#—q‘?) O0) Ui & # [ov) ao_oeua@;eu\-l‘c.
b) I"‘\jht ya 5 WP 5 lo) 'phpr?_éd DV Y
e ~ dovn g

o) ‘

L) nD= f)rs5 ﬁ\

L) hix)= £ -8




e

= ‘Dﬂ) @Jrj\ Lzs) O3 a(zs)']q-(r) 7

folh =

’-

-
E

£ ) () =

He 129) 2 (g () =

C2127) pe0= 52

Y= ’5);3 -3

= oGyto3

o) @-9) (4)= [-200] - (&) =(T)

3 - 3t 2»)

3=l -4

“u%%“

J.{)A

o (

l
=

) ER)()= (3-N(30F ) = Q)(s—)
) *“:t ns) (c»h)(‘h

— ~ ———




